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Sl

No. Questions

I | 120 Q & @AW 9TaRIE Req & 9od &l & 0T 360 Q YaRIY & @19 FHeaT &
et afeRed & SEar geme? |
How much resistance must be connected in parallel with a 360 Q resistor to
obtain an equivailent resistance Ry of 120 Q 7
(A) 180 Q
(B) 460 O
(C) 1.8 ko
(D) 320 0

2 | 500 Hz . #igert mafed @ar 10 kHz i Imgfea Rae afa w amld
Afad Ghd # AGeT gEeE FE?
What is the modulation index in a frequency modulated signal with a
modulating  frequency of 500 Hz and frequency deviation of 10 kHz?
(A} 10
(B} 20
(C) 25
(D) 50

31U HUIRA S 39 Sole & @i 10 dieedw & 100 uC & e & HEifid &
FHar & A gud wRar dw A g
A capacitor that can store 100 uC of charge with 10V across its plates has a
capacitance .value of
{A) 0.01 pF
(B) 0.1 uF
(C) 10.0 pF
(D) 1.0 uF

4| &k ¥ T sEer # o

Battery cells are connected in series to

(A) 9T &THAT qet ¥ / increase the current capacity

(B) 3nzeye diecdr i ge & / increase the output voliage

(C) AR FIRIEAT St HA S 5 / decrease the internal resistance
(D) 3M3cYe dleedl #f HH A g / decrease the output voltage
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TH IERVT wasE F 100 & TGRS offew Ay @ur 0.1 & wrAwy fqur wisyr A,
3@ CMRR &7 37

A differential amplifier has a differential gain Ay of 100 and common mode
gain A.of 0.1. What is its CMRR?

(A) 10 dB
(B) 20 dB
(C) 30 dB
(D) 60 dB

Jeargds ORT A7 dlecar & Apd @@ dbe WHIE de F AW & HGET FHS
AT WY @ar g, # e &
The value of alternating current or voltage that has the same heating effect as

a corresponding dc value is known as

A) RrEr AW / peak value

B) frar & @y d& & AT / peak to peak value
C) ¥Has AT / average value

) rms AT / rms  value

L & iRa A & T o LC YUY & AR dgied H AT aXa & [,
T &l FAT TIRT '
| To double the resonant frequency of an LC circuit with a fixed value of L, the

capacitance must be

(A) TF TS FH AT / reduced by one quarter
{(B) 3Tem %A a1 / reduced by one-half
(C) BT & / doubled

)

(D ET‘MF!TJ &3 / quadrupled
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8 | dfew freex g
Notch filter is
(A) ¥59R fseex / Band pass filter
(B) T&=t 9= Rreex / Low pass filter
(C) 3== 9r& feex / High pass filter
(D) i3 gt feet / Band stop filter
P AR gEel A o fr e A O qar qw gy A e fhar oer & ar
T L grafr :
If the number of turns in a coit is doubled in the same length and area, the
inductance L will '
(A} g7 / double
(B) =leT=Ir / quadruple
(C) &AW T&dT & / remains the same
(D) 3T T & / be cut in half
10 a%waﬁﬁmusﬁmT%‘aTwﬁﬁw‘qﬁr arafr

if a Sine wave has a period T of 40 us, its frequency is

(A) 40 kHz
(B) 250 kHz
(Cy 25 kHz
(D) 2.5 kHz

fafewia PRIt ey (SCRY &1 wAwTT: ATy urel fohar Sar §
Silicon Controlled Rectifier (SCR) is usually turned on by

(A) s 3T / break over

(B) 91T f&aw / gate trigger

(C) #s13a / breakdown

(D) T A URVT FIJ §T / holding current
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s & e B e wwen

Persistence of vision in a human eye is

(Ay v TAee & 1/16ar / 1/16™ of a minute
(B) ww FHs F 1/16af / 1/16" of a second
(C) w® fa=ic & 1/6a1 / 1/6 ™ of a minute
(D) UF Ghs Fr 1/6ar [/ 1/6 ™ of a second

TEFAGTSHTIT T % foT soer fopar SaT B

Sphygmomanometer is used

(A) =13 IR I Sii=r @1 / for checking blood sugar
(B) & g HI il &3 / for checking blood pressure
(C) waw & gsser Hr & a3 / for checking heart beat
(D) sWTIAT e / for dialysis

faferpier uieta sals & Jear A, LED & &

14
As compared to a silicon rectifier diode, an LED has a
(A) FFEAaT 311 diecdl dUT 3TAAY SHSiF dieedl/
lower forward voltage and higher breakdown voltage
(B) oY 311 Flecal du T dR §He5 dieedl/ '
lower forward voltage and lower breakdown voltage
(C) 3ITadT HY dlecdl Tl 3oudl el dieedl/
higher forward voltage and higher breakdown voltage
(DY 3FTaay 3T diecdal a SAFAdT 9F8aa dlecdr
high‘er forward voltage and lower breakdown voltage
15 | Wreate sertre gfdfeeT fafdse w7 % smafed W @ RRree &9 #
IOART T 8 '

Ultrasonic diagnostic imaging typically employs a frequency range from

A) 1 kHz to 15 kHz
B) 1 MHz to 15 MHz
) 1 Hz to 100 Hz
D) 1 GHz to 15 GHz
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A UASITE. & =T AH, SHH 3
The main advantage of CMOS is its

(A) I FaAT AUl / High power rating
(B) M Hehel TeTeiel / Small signal operation
(C) TEgweT &fAdr / Switching capability

| (D) Toi&=T FST @ud / Low power consumption

17

HDTV % v sifewgaar sepona g
Aspect ratio for HDTV is

HAEL F AT W Uh SR 5905 & ey {wa @7 27

What is the barrier potential of a silicon diode at room temperature?

(A) 1.0 V
(B) 0.3 V
(C) 0.7 V
(D) 1.2 V

19

dieedl faHE & w9 F By s &1 39IRT ThaT Siar 27

Which diode is used as a voltage regulator?

(A) T 3205 / PIN diode |
(B) @&y 391 / Varactor diode
(C) = g1 / Zener diode
(D)} TeTeT 3418 / Tunnel diode

20

U FET # 3c=elshcd, $79¢ diocdl 78 o¥g WA & & _ &7 42507 #ar &
Transconductance in a FET indicates how effectively the input voltage controls
the

(A)

(B) =19 WTAIERRaT / Input Resistance
(C) FFF dreear / Supply voltage

(D) dreear ofed / Voltage gain
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T e faeerys #T @des dF Bwan, sed WS S aAaT g

Resolution Bandwidth of a Spectrum Analyser is its capability

(A} THAH Fehd e Juehel T faues/

to resolve smallest signal frequency separation
(B) TEAR Th HEIH & H F TIHe/

to resolve smallest signal amplitude difference
(C) EAH Hepel TWOT 3R T TAuee/

to resolve smallest signal phase difference
(D) T FAAER T & faue/

to resolve smallest time period difference

TRl % HUT B WS Gl TR ONECHT SaRT 3cgeaR ®9 A Fose faar arr g7

22
Which phenomenon is best expfained by the pérticle nature of light?
(A) 3itek weTa / Doppler effect
(B) YdIRIuT / Polarization
(C) yehmer ﬁa‘{lj?!ﬁ?r 93 / Photoelectric Effect
(D) Taads / Diffraction
23 | 31t AR TR F FEeer OSSR ST W S [G@sarel Hh gty
& T 7 sTUet Agfeadl F Fo aRgeEr & Fed &
The phenomenon of some of the higher frequencies in the spectrum of the
signal g(t) appearing’ as lower frequencies in the spectrum of its sampled
version is called
(A) Tawgur / distortion
(B) Taufer / dithering
(C) 3Bu=TtaAaE / aliasing
(D) FaicA™oT @ / quantization noise
24 | TS GIESAH Hohd, TH THd IF HEAT S

A real signal is said to be even signal if

(A) gty = 2 xg(t)
(B) gty = -g@®
(C)y gt) = g(-t)
(D) gy = gty x gt}
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T ST F W F AT F A qe 1% & a1 39% wwmad F A A oo |

25
gl |
If the error in the measurement of the radius of a sphere is 1%,
then the error in the measurement in its volume is
(A} 1%
(B) 3%
(C} 6%
(DY 9% _
26| PCM ATZIRIT & TET 31ejshat g
The correct sequence of PCM modulation is
(A) TR, dideras, HlswT./ quantizing, sampling, encoding
(B) IRfIRwr, s, Yia==+t / quantizing, enceding, sampling
(C) ‘;lﬁﬂr I+, AT, HISeT / sampling, quantizing, encoding
(D) rest, gfcreer, TRIET / encoding, sampling, quantizing
27 | WIS T Fell 39 & WU Foue w9 F IRafda g &
The energy of a photon varies directly with. its
(A} 3mgicd / frequency
1 (B) TLeEd / wavelength
(C) TigaTar /  intensity .
(D) YT 7w (H geaA=) / rest mass
28

aﬁn@am%%aﬁm%wﬁ@?g@mm I 9
g BT o awar
Nortan Theorm states that an entire network connected to a pair of terminals

can be replaced with

(A) THRTET H Ushel diecdl WIT & G1Y THeT TraRIeHar
a single voltage source in parailel with a single resistance
(B) HHETAT 7 Tohet ORT W & G Tehel GiaRremar
~ a single current source in parallel with a single resistance
(C) H@ar # dlecar WiT & Y Thel AT
a single voltage source in series with a single resistance
(D) @l F Ul URT % WY UFe Taersdr

a single current source in series with a single resistance
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29 | frafy v ARG WIS auT AT9AT BT SEensl & e ST A wEd &
The difference batween any one measured value and the arithmetic mean of a
series of measurements is termed as
(A) f@8ga / Resolution
(B) 9Regdr / Precision
(C) T&afad / Deviation
(D) Tardar / Accuracy

30 | AR AYES T FATT % TERT TR ST §

Error detection and correction is done

(A) 3§ FASRE anrT angd #a / by passing it through equalizer
(B) feey aRT 39 9K FU / by passing it through filter

(C) ¥ = vaidtia #d gU / by amplifying the signal

(D) 3oy wfafvaar fel & s g7 / by adding redundancy bits

31 | FareT ameiig worel & 3=w AfT & @afe wwst F T e w8y
FT ST arelr TG g
For high speed bulk data transfer in processor based system commonly used
method is
(A) DMA (ST8tse #ANY vFad) / DMA (Direct Memory Access)

(B) =f&rT fA=rHor / Interrupt control
(C) drfeiar / Polling.
(D) Torsaresr ISweT & T 30HEr 3o
Data transfer through execution register
32 | VHDL Iz # el &y mon & faeor & §

Entity declaration in VHDL code describes

(A) FEIw &7 aregsen / architecture of the module

(B) #TEYS & FTErEr H SAEgTiehal / timing behaviour of the module

(C) wI5TA 1 FET TSH/ETYSS / external viewiinterface of the  module

(D) wise & HfUeRds saRer & f9ewe [ maximum propagation delay in the
module
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953
(5]

8-fore 3T v\ T 8 W waT Wy H¥EdH & HSRUT T Fhall F|
A memory with &-bit data bus and 8-bit address bus can store a maximum of

(A) 256 sTgcH / 256 bytes
(B) 256 facw / 256 bits
(C} 1K dEexE / 1K bytes
(D) 512 sEcy /512 bytes

VHDL # u& g ser au =i aanr =T B swar &
in VHDL, bidirectional data bus is declared

(A 33/ 1In

(B) 313T / Out

(C) =< / Buffer

(D) s 3m3¢ / In out

Foeld AEHATT H Fa AAT @7 ganr & fore &var srar &

in advanced microprocessors, cache memories are used to

(A) WIEH TUT S7eT F A, GHT @5 # uRd e $ R
hold the current active segments of program and data

(B) o ®E# / boot program

1(C) g8 TIEe F HEROT &9 / store huge files

(D) TERi® & #5ROT & / store only constants

R5232 U= / RS232 is a

(A) 3ehEr TER & fav Gifeer ag /
sefial bus for data coﬁmunication
(B) et §OR & forw @w=iay ¥ /
parallel bus for data communication
(C) #HrsH / MODEM - :
(D) SIT™T 4907 / interrupt conirolle
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PI5CT RS F 5T wAnT BT W A e welld &1 9O, [ed g5 T ¥

& EreT B A W GHIEaT ST 8
Propagation delay of flip flops used for counter design largely affects the

speed of operation of

{A) aqumiﬂ?{‘qﬂ (%) F3wed / asynchronous {ripple) counter

(B) g«qchl'l—c?ich 39 F3=el / synchronous up counter
(C) Jeaaileem si3 F3-eX / synchronous down counter
») glcvqchlﬂ?iqw 3T 513 F3wc / synchronous up down counter

gEr gt #, IEuaEe g B %

In a microprocessor, the term 'pipelining’ refers to

(A} TaT & RerfET e / address decoding

(B) AT for@wAT / memory writes

(C) ©RT 3eqaer & FASTET &% ¥ 0%l JigexT & ST el
fetching next instruction while the current instruction is executed

(D} 3R WARY Tar / virtual memory addressing

VHDL & ‘ASSERT f&@tor &1 93T ¥ T fFam o &
In VHDL, ‘ASSERT' statement is used for

(A TFera wara T =9em F f&w / declaring flip flops
(B) w%&w%@hﬁﬁqﬁwﬁaﬁ?ﬁaﬂngﬁﬁarﬁﬁv

repotting warnings and error messages during simulation of model

{C) "VHDL #F &l H2&W0T / synthesis of VHDL code

(D) T3Smea &1 T2 vd fad / place and route of design

40

Fs FSrEe Tk GuFe 3 & 4 Al e aug R HEa R ST §
forey e §
A code in which each decimal digit is represented by a group of 4 binary biis

is

(A) BCD (a1 3133 3f&#a) / BCD (Binary Coded Decimal)
(B) & %I / Gray code |

(C) uwan¥® 3 Fis / Excess 3 code

(D) ASCIl F1 / ASCIl code
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41

TgHehd & HET w1 ]
The primary function of the multiplexing is

(A) T T F Tm REgd o @ o W A 9w e
to select one radio channel from a wide range of transmitted signals
(B) Tw fARTd WA H v FRa Y rgied {9 & @iy fHemn
to match the frequericy range of a signal to a particular channel
(C) TF Hhd #1 ISTqTAN o F7 Heew
to reduce the bandwidth of a signal
(D) VT FAR UsTel HT ITAT FIA & IR Tehel! BT G FGT 37

to allow a number of signals to make use of a single communication

channel

42

dgas S IR AHCTA B egAaH A §, A Fed &

The detector that minimizes the error prdbabifity is called as

(A) IFAIH FHIEIAT FFTH / Minimum likelihood detector
(B) T FHIfaaT Fya® / Maximum likelihood detector
(C) 3irgcer wfaa Fgas / Mean likelihood detector

(D) wefEes gaifadr §gas / Random likelihood detector

va4mme$%u%aﬁmwwqﬁmﬁmW%
ST give & @iy gl R # vl By smar &

How many bits internet address is assigned to each host on an |Pv4 internet

which is used in all communications with the host

(A) 64 TaTH / 64 bits
(B) 24 RTw / 24 bits
(C) 32 R /32 bits
(D) 16 facw / 16 bits

_
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44

mwwﬁaﬁ%mﬁﬁw%ﬁﬁwaéﬁm?
T FEA £

The medium which reflects high frequency radio waves back to earth is

) 3I=THs / lonosphere

) THAEFHSA / Stratosphere
C) Sigrzer / Biosphere

) eftsTHSS / Troposphere

45

)
Dy 2775

T SolFei g SE2eeE 10101 & HAT &I & A &

Hexadecimal equivalent of the decimal number 10101 is

®) 15
(B) 23565
(C) 1010

46

K
L(C) OR
(

oy qax & § frg & 3m3cye 3o g, I oW Sad d-SAge 3T
farfey v gt ar

In which of the foliowing gates, the output is high if and only if all inputs are

| high

(A) NOT
B) XOR

D}y: AND

47

SUGlT ods H, 3MS.H. 90 W ey 3uia &7 3T e § g 3usor &1
T R ST #

In an Ethernet network which device is used to forward the packets based on

P Address

(A) & / Hub
(B) feaw=r / Switch
(C) Teizsr / Bridge
(D) T3<X ! Router
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48

AR & LAN & forw IEEE 802.11 ArTeE 23N 6d §g AfEE aweles & o
Torar T &
Which multiple access technique is used by |EEE 802.11 standard for wireless
LAN
(A) CDMA
(B) CSMA/CA
{C) ALCHA
(D) TDMA
49 | 3F T F WFcH weed 4
- Spectral density of the white noise is
(A} THEHT / Uniform
(B) =REiaiet / Exponential
(C) u3dEIT / Gaussian
(D} =arg / Poisson
S0 | AU FET F e F HRT FET F AT aRms g Wew # 3wan
dewr
The maximum number of binary bits required to represent a digit of octal
number is
(A) 3
(B) 2
(C) 5
(D) 4
S1['C amidier # 9fg $1-815 F ganr yoie &1 939 &0 § o), frg srevoms

T GAET 3T ST g7

In ‘C programming’, if an Integer is to be entered through the keyboard, which
function wouid be used?

(A) () | gets()

(B) aeH() / getche()

(Cy FIe=x() / getchar().

(D) TH=AH() / scanf()
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8051 mEFaaad # UH 24 MHz qifed & g 39219 [har srar g, saAiys

52
TANT T gig W ¥ o A ey gl
if a 24 MHz Osciliator is used in 8051 micrOcontroI[er, the time taken for
Timer to make one increment '
¥(A) 1 p sec
(B 2 u sec
(C) 0.5y sec
(B) 0.24 p sec
53 | afr wfeeafda (A+B) (A+C) & FAW ¢
Logical expression (A+B} (A+C) is equal to
(A)  AB+C
(B} A+B.C
(C) AB+AC
(D) ABC
54 | 8051 TERMEAE F SCON Wawex # fae €13 T SR T
Bit B3 in SCON register of 8051 microcontroller indicates
(A) 83 9T &t ared = /| received 8" Bit
(B) 83 e v ufd F=T / transmitted 8™ Bit .
(C) 9% T & URT L= / transmitted 9" Bit
(D) 94 [T & wieq T / received 99 Bit
55 | g GIRT AW H HONcHF TaT ¢

Load current is always negative in
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‘C H qEEEe

A Preprocessor in ‘C' is

(A) TEARS el W%ﬁaﬁéﬁqﬁmﬁﬁmﬁm%@
Thfad &% & for @day
a directive to compiler to perform things before the actual
compilation process starts

(B) WM wfwam & ot @t & A w B PraiRd w3 d
FeT F forr g

a directive to compiler to perform things after the compiiation process
(C) wEET &I W& &1 S Fde Ft orvorig avar &/

a directive to the processor which executes the program
(D) #HHA & Yodad T Y & UF cAEuenF ey

& commentary statement to enhance the readability of the program

57

TG o= 12 mA 27 lg= 0.4 mA effaees i T 3rdr. drer gnfr

it lc =12 mA and Iz = 0.4 mA, the transistor would have a DC beta of

(A) 20
(B) 10
(C) 12
(D) 30

.58

8051 YaARTIAS H, fawt # & Fia @ wor wer 82

In 8051 microcontroller, which of the following statements is TRUE?

(A) ¥R Tehcih BT EIYT IaT 80H  § FUT AT el e T AW T wwar ¥
Stack Pointer Direct address is 80H and it is only Bit addressable

(B) T Fehceh T ET 9aT 90H & G2 Ag dhae asc Y 3 THT Fwar §
Stack Pointer Direct address is 90H and it is only Byte addressable

(C) ¥ Wehelsr Ft WET 9T 81H ¥ TUT 7% Fad ¢ & AT T avar 2
Stack Pointer Direct address is 81H and it is only Bit addressable

(D) T Fehereh & WUT vl 81H & TU7 a5 FaeT ase T 3R THT war ¥

Stack Pointer Direct address is 81H and it is only Byte addressable
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59

qEY §TEEL A, F o0 'gaEs 39aE 87 0 afiaiase Far a3 &

'‘Collector drift region’ is introduced in Power BJT to

(A) TEd UNT STe I qATC T@ & / maintain large current gain
(B) &9 YNNI &l &H Fl=i g / reduce base drive current
(C} 3% FeT & NI §3 AT & Tlecol Al selid Flel &
block large voltage duri'ng OFF state
(D) ®RT WFH % FH FA & / reduce current crowding

60

'C W F W fqgeor gy | § argY e & forw e siar ¥

The ‘break’ statement in ‘C programming’ is used to exit from

(AY s ‘Iig' Tgaxor [/ an i’ statement
(B) Ts ‘fore™@ / a ‘for’ loop

(C) e FHA / a program

(D) HET () T / the main () function
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